8.

Answers Page 88 # 4-6,8,11,12

a) 9 — 5¢ + 5 d) 3x¢ — 9x — 3
b)2x2—|—3x—|—4_y—l—z e) 2x2—5x_y—l—2_y2
c) 3x — 3y + 1 f) 5x* — p* — 1
a) m — 4n+p+ 7 d) —2m? — Smn + 151r2
b) —8m — 4g + 1 e —x° + 4y° + 15
©) —a’ + 4a’ — 2a ) 3x? + 50
a) 11lx — 7y d) 2x + xy — 4y + y=z

. 3 4
b) 4x 16x 3 e) 10x—|— 3_}»
c) 4x? f)Lx—l—l_y—l—l

12 4

a) f(x) = 2x* + 4x — 9and g(x) = 2x* + 4x — 5. f(x) # g(x)
b) 5,(1) =27 and 5,(1) = 9 .. 5,(z) # s, (2)
c) eg,ifx= —1,theny, =2andy, =0
N7
d) f(n) =2n" +2n — 9and g(n) = 21" + 2n — 9
= fln) = gn)
e p=14g=1y=%y,=5"y 7

P f2) =6
g(2) =14
= flm) # g(m)

11. 3x+3y+2
12. a) P(x) = —50x* + 2350x — 9500 b) $11 500
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